
Easter Word Problems

1.) Isabelle's mom fills the candy dishes with jelly beans. She fills the 

first dish with 24 green jelly beans, the second dish with 22 yellow 

jelly beans and the third candy dish with 25 pink jelly beans. How 

many jelly beans are there in total?

2.) Easter morning has arrived and the Easter bunny has hidden the 

colored eggs all around the house. Tommy finds 8 eggs, Sarah finds 9 

eggs and Isabelle finds 12 eggs. How many eggs are there in total?

3.) Tommy looks through his Easter basket and picks out the 

chocolate candy eggs. His first search finds 6 candies and his second 

search finds only 2. He moves the decorative grass out of the way and 

discovers 17 more! How many chocolate candy eggs does he have in 

total?

4.) Sarah pulls three plastic eggs out of her Easter basket. She 

shakes them and hears coins inside. She opens the first plastic egg 

and finds a quarter, which equals 25 cents. Sarah opens the second 

plastic egg and discovers 2 dimes, which equals 20 cents. The third 

plastic egg reveals 5 pennies, which equals 5 cents. How much money 

does she have in total?

© ThuVienTiengAnh.Com


